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Test 1
Part I Listening Comprehension (20 minutes)
Section A Conversation

Directions: In this section, you will hear 10 short conversations. At the end
of each conversation, a question will be asked about what was
said . Both the conversation and the question will be spoken only
once. Afier each question there will be a pause. During the
pause , you must read the four choices marked A , B, C and D,
and decide which is the best answer. Then mark the
corresponding letter on the Answer Sheet with a single line through
the centre.

1. A.To get support officially.

B.To cover his pencil with paper.
C.To get permission from her country.
D.To spend a lot on her trip.
2. A.The store doesn’t have it now, but will soon.
B.It is no longer available.
C.It has been reprinted four times.
D.The information in the book is not up — to — date.

3. A.Two weeks. B. A month.
C.More than three weeks. D.Forty nights.
4. A.In a dining room. B.In a hospital.

C.In the dean’s office. D.In a doctor’s office.
5. A. That they take the children to an amusement park after giving them
cakes and ice creams.
B. That they let the children amuse themselves after giving them cakes
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and ice creams.
C. That they arrange some games for the children and then give them
cakes and ice creams.
D. That they let the children amuse themselves and then give them cakes
and ice creams.
6. A.Her English teacher needs the dictionary.
B.Take the dictionary out of the library.
C.She is welcome to borrow one.
D.Buy a French — English dictionary for herself.
7. A.In the living room. B.In the classroom.
C.In the conference room. D.In the doctor’s office.
8. A.The man enrolled in a real estate course.
B.The man was employed in the woman’s office.
C.The woman bought a new house.
D.The woman bought the man’s estate.
9. A.Corresponding with each other.
B. Summer vacation plans.
C.Spending some money.
D.A dancing course.
10. A. Arranging accommodation in school.
B. Receiving letters from school.
C. Having dinner at school.
D. Resting in a rocm at school.
Section B
Directions: In this section, you will hear 3 short passages. At the end of
each passage, you will hear some questions. Both the passage
and the questions will be spoken only once. Afier you hear a
question, you must choose the best answer from the four choices
marked A, B, C and D. Then mark the corresponding letter on
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the Answer Sheet with a single line through the centre.

Passage 1
Questions 11 to 13 are based on the passage you have just heard:
11. A.A correct method. B. A positive attitude.

C. A high goal. D. A good habit.

12. A.A positive attitude will undefinitely produce positive results.
B. A positive attitude will make the things you do less interesting.
C. A positive attitude includes a genﬁine desire to succeed.

D. A positive attitude can only help you in your studying.

13. A.You should have a good attitude to your physical problems.

B. A good attitude in learning can lead you to success.
C.Basic leaming skills are very important.
D. There’re many ways to maintain a positive attitude in learning.

Passage 2

Questions 14 to 17 are based on the passage you have just heard:

14. A.They are farmers and traders.

B.They are housewives and mothers.
C. They sew things to sell.
D.They bake and cook things to sell.

15. A. Six or more. B. One or five.
C.Seven. D.One or six.
16. A.10. B.15.
C.16. D.17.

17. A.Most married women in Ghana are young.
B. None of Ghana’s women depend on their husbands.
C. Ghana’s women like to go out to work.
D. Most women in Ghana work and maintain families.
Passage 3
Questions 18 to 20 are based on the passage you have just heard:
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18. A.Because they do not study attentively.
B. Because they haven’t got very good chances.
C. Because they do not understand the lesson as a whole.
D. Because they forget many details.

19. A.To know the difference between learning and memorizing.
B.To memorize to pass the exams.
C.To understand vaguely and pay special attention to minute details.
D.To understand thoroughly .

20. A.How to remember what you have learned?
B.How to understand what you have learmed?
C. How to pass examinations?
D.How to leam the most important information?

Part 1 Reading Comprehension (35 minutes)

Directions: There are 4 reading passages in this part. Each passage is
Jollowed by some questions or unfinished statements. For each of
them there are four choices marked A, B, C and D. You should
decide on the best chowe and mark the corresponding letter on the
Answer Sheet with a single line through the centre.

Questions 21 to 25 are based on the following passage:

When imaginative men turn their eyes towards space and wonder whether
life exists in any part of it, they may cheer themselves by remembering that
life needs not resemble closely the life that exists on the Earth. Mars looks
like the only planet where life like ours could exist, and even this is
doubtful. But there may be other kinds of lives based on other kinds of
chemistry, and they may multiply on Venus or Jupiter. At least we cannot
prove at present that they do not.

Even more interesting is the possibility that life on their planets may be
in a more advanced stage of evolution. At present man is in a peculiar and
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probably temporary stage. His individual units retain a strong sense of
personality. They are, in fact, still capable under favourable circumstances of
leading individual lives. But men’s societies are already sufficiently developed
to have enormously more power and effectiveness than the individuals have.

It is not likely that this transitional situation will continue very long on
the evolutionary time scale. Fifty thousand years from now on man’s societies
may have become so close — knit that the individuals retain no sense of
separate personality. Then little distinction will remain between the organic
parts of the multiple organism and the inorganic parts (machines) that have
been constructed by it. A million years further on man and his machines may
have merged as closely as the muscles of the human body and the nerve cells
that set them in motion .

The explorers of space should be prepared for some such situations. If
they arrive on a foreign planet that has reached an advanced stage(and this is
by no means impossible) , they may find it being inhabited by a single large
organism composed of many closely cooperating units.

The units may be “secondary” machines created millions of years ago by
a previous form of life and given the will and ability to survive and reproduce.
They may be built entirely of metals and other durable materials. If this is the
case, they may be much more tolerant of their environment, multiplying
under conditions that would destroy immediately any organism made of carbon
compounds and dependent on the familiar carbon cycle.

Such creatures might be relics (#F#) of a past age, many millions of
years ago, when their planet was favourable to the origin of life, or they might
be immigrants from a favoured planet.

21. Humans’ characteristics on the Earth, today are formed by

A.their existence as free and separate beings

B. their capability of living under favourable conditions

C. their great power and effectiveness
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D. their strong desire for living in a close — knit society
22.In this passage, the word “cheer” (Para. 1, Line 2)means
A. imaginative men are sure of success n finding life on other planets
B. imaginative men are delighted to find life on other planets
C. imaginative men are happy to find a different kind of life existing on
other planets
D imaginative men can be pleased with the idea that there might exist
different forms of life on other planets
23. According to this passage, some people have the opinion that eventually

A human societies will be much more cooperative

B.man will live in a highly organized world

C.machines will take control over man

D. living beings will disappear from the Earth
24. Most of the imaginative people admit that

A. human societies are as advanced as those on some other planets

B. planets other than the Earth are not suitable for life like ours to stay

C. it is difficult to distinguish between organic parts and inorganic parts

of the human body

D. organisms are more creative than machines
25. We can infer from this passage that the writer

A.is interested in the imaginary life forms

B.is eager to find a different form of life

C.is certain of the existence of a new life form

D.is critical of the the imaginative people
Questions 26 to 30 are based on the following passage:

Predictions of large populations of robots in industry have yet to come
true. For a decade or more, manufacturers of big robots have explained how
their machines can make industry more competitive and productive. The
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market for big robots is now oversupplied, and the driving force of the
robotics revolution is claimed to be with makers of machines that handle a few
kilos at most.

“Heavy — robot manufacturers are in some difficulties in finding
customers, They are offering big discounts just to get in the door. There has
been a disappointing growth everywhere in the numbers of robots, so we have
to admit either we are deceiving ourselves or that the market is slowly
growing. ” said John Reekie, Chairman of Colne Robotics, “The following
things must happen for the robotics revolution to occur. We must achieve
widespread robot literacy; just as there has been a computer literacy program,
there must be a robot literacy campaign. We must also achieve not just a cut
in, but a collapse of robot prices. Finally, some kind of artificial intelligence
needs to be available.”

Colne makes educational robots and machine tools. It is small compared
with companies like Unimation, ASEA, or Fujitsu Fanuc. But Colne and
others like Pendar, which makes robots in Wales, and departments in
universities such as Surrey, Machester, and Durham have an advantage over
the giants . The big companies sell very expensive robots to business with
expert knowledge in automation. The little companies make robots for
teaching people, and now they have realized there is a need for small, low —
cost robots that they can meet.

The little companies either bring their educational machines up to an
industrial standard or design from scraich. One technique that they all adopt
is to choose standard components where it is possible. The major cost of
making both their models is the electronics, which will fall in price. There is
less scope for reductions in mechanical costs. The use of standard parts,
which are easily replaced, should give these robots a mecharucal life of
something in the older of five years.

26. What does the writer mainly talk about in the second paragraph?
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27.

28.

29.

30.

A.Why big robots don’t sell well?

B. There 1s a lot of work to do to widespread robots.

C. Manufacturers are blindly making too many robots.

D. Future robots will have more artificial intelligence.

Why do heavy robots sell badly?

A.They are too expensive.

B.They are not standardized.

C.There are only a small number of them available at choice.
D.They are not as productive as expected.

According to John Reekie, how can these big robot companies compete
for market?

A. By limiting their output.

B.By cutting prices.

C.By “robot education” .

D.By switching to overseas markets.

From “the little companies design from scratch” we can infer that

A they will make whatever robots the users need

B. they will make standardized robots

C.they will make the newest educational robots

D. they will reduce the prices of their robots significantly

What’s the topic of this passage?

A. The hope of the robotics revolution is with the manufacturers of small
robots.

B. A robot education is needed to widespread robots.

C.The introduction of robots is creating a revolution in manufacture.

D. It is necessary to reduce robots’ prices significantly for mass sale of
robots.
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Questions 31 to 35 are based on the following passage:

Automation refers to the introduction of electronic control and automatic
operation of productive machinery. It reduces the human factors, mental and
physical, in production, and is designed to make it possible for the
manufacture of more goods with fewer workers. The development of
automation in American industry has been called the Second Industrial
Revolution.

Labour’s concern over automation arises from uncertainty about the
effects on employment, and fears of major changes in jobs. In the main,
labour has taken the view that resistance to technical change is unfruitful.
Eventually, the result of automation may well be an increase in employment,
since it is expected that vast industries will grow up around manufacturing,
maintaining, and repairing automation equipment. The interest of labour lies
in bringing about the transition with a minimum of inconvenience and distress
to the workers involved. Also, union spokesmen emphasize that the benefit of
the increased production and lower costs made possible by automation should
be shared by workers in the forms of higher wages, more leisure, and
improved living standards.

To protect the interests of their members in the era of automation, unions
have adopted a number of new policies. One of these is the promotion of
supplementary unemployment benefit plans. It is emphasized that since the
employer involved in such a plan has a direct financial interest in preventing
unemployment, he will have a strong drive for planning new installations so as
to cause the least possible problem in jobs and job assignments. Some unions
are working for dismissal pay agreements, requiring that permanently
dismissed workers be paid a sum of money based on length of service.
Another approach is the idea of the “improvement factor” which calls for wage
increases based on increases in productivity. It is possible, however, that
labour will rely mainly on reduction in working hours in order to gain a full
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share in the fruits of automation.

31.

32.

33.

34.

The idea of the “improvement factor” (Para. 3, Line 9) implies

A.wages should be paid on the basis of length of service

B. the benefit of the increased production and lower costs should be
shared by workers

C. supplementary unemployment benefit plans should be promoted

D. the transition to automatiomr should be brought about with the
minimum of inconvenience and distress to workers

Despite the labour’s worry about the effects,

A . automation will eventually prevent unemployment

B. automation will help workers acquire new sklls

C. automation will eventually benefit the workers no less than the
employers

D. automation is a trend which cannot be stopped

In order to gain a full share in the fruits of automation, labour will rely

mostly on .

A. additional payment to the permanently dismissed workers

B. the increase of wages in proportion to the increase in productivity

C. shorter working hours and more leisure time

D. strong drive for planning new installations

Which of the following is mentioned in this passage?

A. Automation will lead to more unemployment.

B. Automation, the Second Industty Revolution, frees the American
workers from production completely.

C. Labour worries about that they cannot share the benefit of the
increased production made possible by automation.

D. In fact, automation cannot affect employment but promote

employment.
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35. Which of the following can be considered as the best summary of the
passage?

A. Advantages and disadvantages of automation.

B. Labour and the effects of automation.

C. Unemployment benefit plans and automation.

D.Social benefits of automation.

Questions 36 to 40 are based on the following passage:

Auctions are public sales of goods, conducted by an officially approved
auctioneer. He asks the crowd assembled in the auction — room to make
offers, or “bid”, for the various items on sale. He encourages buyers to bid
higher figures, and finally names the highest bidder as the buyer of the
goods. This is called “knocking down” the goods, for the bidding ends when
the auctioneer bangs a small hammer on a table at which he stands.

An auction is usually advertised beforehand with full particulars of the
articles to be sold and where and when they can be viewed by prospective
buyers. If the advertisement cannot give full details, catalogues are printed,
and each group of goods to be sold together, called a “lot”, is usually given
a number. The auctioneer need not begin with Iot 1 and continue in
numerical order; he may wait until he registers the fact that certain dealers
are in the room and then produce the lots they are likely to be interested in.
The auctioneer’s services are paid for in the form of a percentage of the price
the goods are sold for. The auctioneer therefore has a direct interest in
pushing up the bidding as high as possible.

The auctioneer must know fairly accurately the current market values of
the goods he is selling, and he should be acquainted with regular buyers of
such goods. He will not waste time by starting the bidding too low. He will
also play on the rivalries among his buyers and succeed in getting a high price
by encouraging two business competitors to bid against each other. It is

largely on his advice that a seller will fix a “reserve” price, that is, a price
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below which the goods can not be sold. Even the best auctioneers, however,
find it difficult to stop a “knock — out”, whereby dealers illegally arrange
beforehand not to bid against each other, but nominate one of themselves as
the only bidder, in the hope of buying goods at extremely low prices. If such
a “knock — out” comes off, the real auction takes place privately afterwards
among the dealers.
36. Which of the following is wrong?
A.The hammer was no use.
B. If such a “knock — out” comes off, the real auction takes place
privately afterwards among the dealers.
C. The auctioneer must know fairly accurately the current market values
of the goods he is selling.
D. Auctions are public sales of goods, conducted by an officially
approved auctioneer.
37. The passage mainly talks about
A.how an auction is conducted
B.the auctioneer’s role in an auction
C.the development of auctioning
D.the kinds of goods to be auctioned
38. The phrase “knocking down” the goods (Para. 1,Line 5) most probably
implies .
A knocking them down from the table
B.bidding higher prices for them
C. cutting back on their prices
D. selling them
39. During the course of an auction, a bidder can get an item at a low price
if he
A.beats others in the bidding
B. promises to sell the item again later



